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Lattice Diagrams for One TL Section
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Lattice Diagrams for Multiple TL Sections

Rs T e
[WAZee e
VS ? Zl , &el ZZ, &2 RL

F:Rs_zl F:RL_Zz F_Zz_zl :ZI_ZZ
* R+2Z, " R+z, " z,+z, " Z+Z,
V) = 2y vpl—i vpz——c T, =1+1,
RS +Zl gel gez
T, =1+1,
Coh
Dr. J. E. Rayas-Sanchez " Y pl v v p2




Transient-Domain Analysis of Transmission Line Circuits (Part 2)
Dr. José Ernesto Rayas-Sanchez
March 30, 2020

Lattice Diagrams for Multiple TL Sections (cont.)
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Example of Transient Response in 2-TL Sections
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Ry =25Q; R, = 150Q; Vg =3V;
Z,=50Q; Z, =40€;

&,=3; &,=3.5;

I, =15cm; |, = 10cm
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Example Simulated with ADS
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TLINP RL
TL2 R=150 Ohm
Z=40.0 Ohm
L=10cm

K=3.5
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Example Simulated with ADS (cont.)
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